
1) Simplify 16:19

Answer: ____________

2) Find perimeter of 
square having each side 
(s) equals 35 cm

Answer: ____________

3) (-91) - 5

Answer: ____________

4) 4 x 17 + 6 - 12

Answer: ____________

5) (10 x 39) x (7 x 71)

Answer: ____________

6) Find area of square 
having each side (s)
equals 89 cm

Answer: ____________

7) Round 10.47 to 1 significant figures.

Answer: ____________

8) $180.00 earning 6% compound 
interest for 7 years.

Answer: ____________

9) 15/11 x 1/12

Answer: ____________

10) 15/11 x 1/12

Answer: ____________

11) 52 - 30

Answer: ____________

12) Find the mean of the following set of data:

8, 11

Answer: ____________

13) A number was shared in the ratio 
15:6. The smaller share was 40. 
What was the total amount shared?

Answer: ____________

14) 255 ÷ 17

Answer: ____________

15) Share 20 in the ratio 7:13

Answer: ____________
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16) Convert the following fraction into a 
mixed number: 15/4

Answer: ____________

17)

'Name the type of angle.

Answer: ____________

18) 1   2/7 - 5   4/6

Answer: ____________

19) 67 - 35.7

Answer: ____________

20)
19  Find Volume of Cone 

17

Answer: ____________

Total: ___ / 20
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Answers:

1) 16 : 19 2) 140cm 3) -96 4) 5) 9644670 6) 7921cm 7) 10

8) $270.65 9) 5/44 10) 5/44 11) 22 12) 9.5 13) 140 14) 15

15) 1 : 19 16) 33/4 17) Obtuse 18) 88/21 19) 31.3 20) 1437.5404384051
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